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WMSS Chapter 5 Support File Answers

Practice 5-1

1.< 2.< 3.> 4 = 5< 6.> 7. >
8.> 9.= 10.> 1. < 12. = 13. >
14. > 15. < 16.21 17.96 18. 150

19. 18a3bc  20. 84x2y2 21. 144 22. 432
23. down; 33 >3} 24. yes: 2% <23 25 3.%3
26. 4,234 27. &3,

-lk\u)
oI -

1

Practice 5-2

2 3 4 17 9 4
1. g 2. Z 3. g 4. 2% 5. m 6. 8§
7. 0.85 8.0.875 9. —0.5625 10. 3.125
11. 628125 12. 2.696 13. 0.52 14. 4.62
15. —0.583 16. 0.4 17. 0.27 18. 1.36

3 3 3

19. 10,04,2,5 20. —3,-0.6,-0.38, =3
21. 102,52 22. % =192 =194 23. 10g;

24. 31 25 —4% 26.{f; 27.3 28. 3
20 > 30. < 31.- 32 < 33 - 34>

Practice 5-3
5 3 2 3 1
1.5 2.3 3.15 4 -l 5. —; 6.9
X n
715 8.5 9.3 10.5 115 125
13. 15 14. -5 15. 65 16. 3%—1
17. 6% 18. 11 19. 1412 20. 111 21. 1
22. 30 23. 56 24.100 25. —% 26. $-
15 20 24 23
27. 33 28. % 29. 62 30.%

Practice 5-4

4 5 7 1 1
1.2 2-% 3.& 4.1 510 6.2 7.4
8.3 9.2 10. 5 1. & 12.1 13. 13

1 1 2

14. 3—1ﬁ 12% 245 116. -1%
19. g 20. 68 21. 81 cups
23. 15 sheets

1 3
17. 29; 18. 3%
22, 4% chapters

Practice 5-5

1.10 2.9 3.20 4.1200 5.2} 6.2}
7.1 8.5 9.18 10. 13 11. A glass of milk
holds about 8 fl oz. 12. A newborn weighs
about 7% Ib. 13. Reasonable 14. ton; A whale
is very heavy. 15. cup; Cookies have about a cup
of sugar.

ity 18. length 19. weight

16. inch; A mouse is small 17. capac-
20. length

Practice 5-6

1. March 5 2. 9records per hour 3. page 198
4, —56°F 5.a.7 b.31 ¢ 5 d. -3 e. 17

Practice 5-7

9 3 14 1 1 4

5 5 5 1 1
7.3 83 9.3 107 .15 12.7%
3.5 14. 145, 15 5 16. 12 17. 73
18. 411 19.2 20.] 21.3 22.%
23. h + 3% = 213 = 17% ft
24. h+ 13 = 63 h = 44 1t
Practice 5-8
.x=3 2.p=-3 3. k=-1 4 h=%

6. m=—43 7. p= -}

8. w=1f 9.x=0 10.m=3L M. c=%

5

—_

_ _1 — _ 38
1222 k=— 13.y=7 14 f=4£
15.n=1 16.c=1 17.4=6 18. y=20
19. h = =} 20. k = —13 21. 13m = 22;

m = 13} pages 22. 3x = 156;x = 52 mi/h

Practice 5-9
1.8 2.0 3 00 483 5 9% 6. 1254%5
7. 144m2n2 8. —1,000x3y? 9. 7294373512

10. 42 11, —af0 12, 16a120% 13,
8ly y
14. 6952 15. 2” 16. 310 17. 64 18. —2

y

19. -1 20. 16 21.§ 22. -1 23.5 24.4
25. 3 26.2 27. (4a%)? = 16a*
28. (37°)3 = 27713

Reteaching 5-1

1.45>3 2.3<8 3. 4>

4. <% 5. <2 60U
1. -%=-% 8% 35 928<%g
10.3>8 MN.§=5 12 5> 5

Reteaching 5-2

1. 0.636363 ...,63.6363 ..., —0.636363 .
ll 2. 0.83333...,83.3333...,

63, 99,
_8.3333 5, 90>
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Chapter 5 Support File Answers (continued)

5 13 19 10 4
5 3.1@ 4.@ 5.4ﬁ G.Zﬁ

Reteaching 5-3

8 1 _ 47 8 11 _ 720 11
[ e e I
ZIﬁZIZ 3. 5E_2E:4ﬁ_2ﬁ:2ﬁ

4 21 _ (34 21 _ <13 7 14
4.7@—1@—6@—1%—5@ 5.13 6-3B

19 23 5 11 34 3
7.3 8 % 957 10.3; 1135 1213
13.1 14. =

Reteaching 5-4
1.1 2. 22 3. -10} 424 5 -1} 6.1
7.2% 8. -2}

Reteaching 5-5

.13 2,37 3.1} 4 2] 525 6.38 7.10
8.5 9.480 10.33 11.2% 12.2}

Reteaching 5-6

1l.a. $3 b. $4 c $8 d. $15 2. $44 3.
the pie

of

ool—

Reteaching 5-7

1.h=% 2.e=% 3.m=—% 4. p =7
— _1 — 3
E 6 y = —El 7. k = —3134

10 g.f:—Zﬁ 10.b=2§

Reteaching 5-8

Lx=1 2x=14 3.y=3 4 n=-3%
5.j=6 6. p=2% 7.m=3 8 n=—4¢
9. x =1} 10. k = -2}

Reteaching 5-9

1. 10,000 2. —216 3. 16x% 4. ¢l0p°
4 49 27
5. 9a%h° 6. —125m®n° 7. g 8. &1 9. —1Gm

16 27:3 ad x3y10
10. 11. 12. 13.
% 125 520 32,1

2z
6.2
14. 1 15, 5 16, —2ZL— 17, p12¢%0
1gnj‘212 9t a%p3c0 pq
3.12
18. 27~ 19, 2. 20. ¢
16 k2 64b°

Enrichment 5-1

FINISH

Enrichment 5-2

1. 0.94 2. 027 3.0254 4.024 5.04

6. 7138 7.04 8.07 9.02 10.05

11. 0.8 12. 0.8 13. 037 14. 0.82 15. 0.05
16. 0.61 17. 0.47 18. 047 19. 0.571

20. 0.007 21. 0.365 22. 0.998 23. 0.135
24. 0.135 25. 0.08705

Enrichment 5-3

Sample answers are shown. 1 % + % + i
2l 11,11 g1 1i 1T
SN MM ST L
6-§+Z,§+ﬁ
Enrichment 5-4
3 13 12 350 1 1
1 - 5 2- 45 3- 29 4- 1’807 5- l 6- l
5+% 8+ 3
7 1 8. —1
. 1 . 1
4 + 1 6 + 1
2+§ 2+§

Enrichment 5-5

1. 23}, 38%; 333, 254; 361, 109%; 724, 104%; 83¢, 915;
2 40l. 173 . 102 ey 1. 211 1

155,493 173, 23; 1953, 29; 365, 775; 315, 263

2. Sample answer: The larger units are more

appropriate, but the people at American Forests

probably wanted to avoid fractions.
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Chapter 5 Support File Answers (continued)

Enrichment 5-6

7 5 3 7 5
and% b. 1%and1 C. 16and2 d. 16an %
8. 1% 9.3 10. 5 1.5 12,15 13. 5
Enrichment 5-7
1. h+ 6,194 =29.028:h = 22,834 ft 2. —%

5 5 5 5 13
9. —113 10. -2 1105 12,14k 130 3
14. -1} 15 %

ACONCAGUA ARGENTINA

Enrichment 5-8

1. %s,%s,lsﬂs 2. %s,%s,%s,%s,%s,%s,lsﬂs
3.a. %s b. 3s 4. %s,%s,%s,l%s,%s,%s
Enrichment 5-9

l.a. 64 b. 64 c 43=2° 2.a. 6561

b. 6,561 ¢ 9* =38 3.43=(22)3 =26

4, 9% = (324 =38 5 2l g, 310 7 212
8.6/ 9. 313 10. 218 11,222 12, 510

13. 229 14. 318 15, 713 16. 1017 17. 34
18. 2%

Checkpoint 1

1. 112 2.200 3.77 4. > 5 < 6. >
7.16 8. % 9.027 10.D

Checkpoint 2

1. -3 2.6 3.74 4.7500 5. 11ft 6.
y=%1 7.r=20 8. x=-11 9. k=% 10
11 ft from the center line

Assessment Form A

.D 2G 3.A 4F 5D 6.G 7.C
8. H 9.D 10.G 1. < 12. = 13.
14. 0583 15. x = -3 16. =12}

[

17. n = -4 18.1; 19. 26 20. 16x2
21. 2;”;3 22, —x3y0 23. c = 54;¢ = 81 coins
n

24. 20 puppies 25. Sample answer: A baby lost
% Ib in the week after it was born. At the end of

the week it weighed 6% Ib. What was its birth
weight?

Assessment Form B
.A 2.F 3.C 4 H 5C 6.G 7.D

8.F 9.B 10.J 11. > 12.> 13.5
14. 046 15. x =1z 16. y =1} 17. z = -5}
18.3 19.6 20. —12503 21. 4%

81n’

22. —x!%5 23. 13m = 195;m = 150 months

24. 12 25. Sample answer: Thomas runs % mi a

day. How many days will it take him to run a total

of 6 mi?

Alternative Assessment

1. Answer is incorrect find the LCM of 9 and 3;
multrply 3 by 3, then add — + The correct
answer is —% 2. Multiply each amount by 5 or
divide each amount by 2. 3. Sample answer: Lisa
and George bought a pizza with 15 equal pieces.
George ate % of the pizza and together they ate %
How much did Lisa eat? Lisa ate % of the pizza.
4.a. 4% b. 1.27 c¢. cm to m; It is easier to divide
by 100 than 12.
5. (ab)® = (ab)(ab)(ab)(ab)(ab)
=a-a-a+a+a+b-b-b-b-b=ab

Cumulative Review

.D 22G 3.A 4 H 5D 6H 7 13
8. —% 9.3 10.42 11.2% 123 13. &%
14. —6¢ 15. —100 16.§ 17.36k> 18. &
19. 87”53 20. %, ﬁ, %; Sample answer: Start

with 2 and multiply by % repeatedly.
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